2% 2%

2%

8%

L G/

AR

04000,00
PP. = 7300

Skala 1:100/100

Pik

AT

S o [T E

WL eyer |

- 6LGL | 0SSL [ 69GL |

AT A It

ST mwm -9 F

VAR e/ ok

996, - 99 |

SR

- 19 F

. : =

34|38 5
[ O Lol D
. e — )
Lol (| (| ~1
= = = (@]
(=) [ (o) Lol
LV Lot [l —
N N N (=)
= (a (a O

g/ |
Vvl
Lo b
BRI

- BLGL

Loy b
SRS
Ly L

69,

- (GG

o |

- L
-9

- 89CL F
9L |

- 9L

=0+01,00
PP. = 7300
RZEDNE PROU.

Skala 1:100/100

Pik

RZEDNE KONS.

RZEDNE TEREN
ODLEGL0SC)

53
odcinek A-B

LO—
==




8%

2%

3% 2%

L 0LGL |

116l

Lo b
AT

- 08SL [

Lot
F T
-t
- et

- 69CL

- 0L F

-89S
- 89G/

- 89 F

- 95 F

- O0SSL [

2% 2%

2%

= —‘L‘J”’

8%

04+039,56
PP. = 7300
RZEDNE PROU.

Skala 1:100/100

Pik

RZEDNE KONS.

RZFDNE TEREN
ODLEGLOSC

- 75
- 9% f
LU b
/A

Ay

At
/A
- /9g -
- 0G¢/

AR

- 166 F
- GG F

- 09 E
- 99t
096 T
- 9L
- oYL

- S

0+060,65
PP. = 7200
RZEDNE PROU.

Skala 1:100/100

Pik

RZEDNE KONS.

RZFDNE TEREN
ODLEGLOSC

odcinek A-B

=

LO 00! gy
T~
BT

S
[enlan)




2% 2%

2%

— = Ee e S S E SR

8%

- S

- WL

oo |
- VSSL

Ay

- OGS/ ¢
- ¥5SL

-GS

5

8%

——h—

2%

2%

8%

= 0+081,69
PP. = 7200
RZEDNE PROU.

Skala 1:100/100
RZEDNE KONS.

Pik

RZFDNE TEREN
ODLEGLOSC

- S

A
- 1SS F

Loy |
" 9CG

-Gt
- oGy b

-GS

3

0+086,21
PP. = 7200
RZEDNE PROU.

Skala 1:100/100
RZEDNE KONS.

Pik

RZFDNE TEREN
ODLEGLOSC

SEETEES
odcinek A-B




2% 8%

2%

8%

0+098,26
PP. = 7200

Skala 1:100/100

Pik

odcinek A-B

- 9GS 00 -GSt
1S5 T mm 095/
eG [ IS g [ 07 3| Fwg [ ]
C v@p C m@mx E @@pm mmﬁ— o C N@p C m,mﬁmx C
$95 [ dey | 999 & 47 0 [ 36
o/ S
-89/ b eSS FoSoS 000 A - ST #mm i
% o |
196 | $91- L SO
gy | E 0w E S nl g | Y i
oG [ [ 10 [ BL- al -G [
poy | O L goq | L < || ooy | UL
- e L - awu 8L - _QMM - oYL
&t - 09y T
8 F 00'G- - 09/
o
. : = () ) . : =
) 2 )
gl sl gl g2 2 gl 8| Bz
a2 =8 s D= E 4
Uy e L A
Oor | or| oo | — T, P T [ T g R W
N N N (] (@] N N N (]
[ [ [ O W nlvnu [ [ [ O




- IGGL P

%

odcinek A-B

-S4
% , o g b
T T J L ogy |k [ K5 L
- A | oS ]
L 0SS | i »e| i 15/
el [ S gy [ 064 S|
Loy L8 - 16 7
PG s o A O
5L H - 09, | Ig'SL 9SS
of|| | 9%/
GG F QISLF SYSL 000 WL sl wmm 2
i i m sl i s [ &L
- TS50 = - %MM - mm %G b
¢ P’ % \ L —m»mx - @m;mx
P WS E 0l
oo LTS F ory b OIS
B e [ E A
ol &
A R
@m,mN %“Nl
6LSL F 614~ IS+ 009~
o (@)
- S ; 5 | = N S ; 5 | =
B S NE IR S SEIS| BB
T o [l Ll | oLy | oL m ﬁ S I L | oLy | L m
S v =2 =2 =2 O &S o == = S
[al [ [ [ Lol [l (e [ [ Lol
3 | M a = o | I a
= < o o o &) = o o o O
. W . W




2%

2%

= (0422526
Skala 1:100/100

Pik

PP. = 7200

A Sy
[? QQN
- 8 oy erep el
ey L m@ - o5 p 90
TS ey | [ &
- GG sl
- oo bR F oSS o000
| e | 0S-
oo b IES [ GSET G-
- EOCG L F gl-
- oGS F YL - 067~
. PO Ty
SmN oomN m.m;m.l
W9 F 6G

. : =
S| L2 <
FI2 I HE g
Lol Lol Lol m
= = = (@]
(o) (e [ Lol
Lt Lt Ll |
N N N [an)
(a- (a- (a- O

2% 8%
— ==

8% _.2%

=0+228,16
Skala 1:100/100

Pik

PP. = 7200

- 9gL b0
166/ %W
e WS ey [l
ot I LT, Lo A
R (oA (T
WS I 70 161
i
- 9950 F o ISS 00D
I Loy~
19y | Y ! -
09/ &g B ) i
] -
SRV - s
- 169 F 8-
-0 F Y-

. : =
S| 2| Bl =
[ha (@) Lol D
(a1 e — )
Lol Lol Lol |
= = = (@]
(e (e (e Lol
Lt Lt Lt |
N N N [an)
(a- (a- (a- O

odcinek A-B



2% 8%

2%

155/

9T [
-9 |
QG

- 99 |

- oG b
T4 T

-85S F

- GyGL

- LSS

s

-Gt

-GSO

- 6VSLE
-

- 60GL [

2%, 8%

=8

":&%%

T
LO—
T
T T T |
117 =

8% 2%

04+239,63
PP. = 7200
RZEDNE PROU.

Skala 1:100/100

Pik

RZEDNE KONS.

RZFDNE TEREN
ODLEGLOSC

0+231,11
PP. = 7200

Skala 1:100/100

Pik

- 9000
RIS
- 09 F oSS | - 052
PG F LY F
e

-89 - 6PSL [ 8SSL 000
o)~
oy | Bk &
- Qe mnm G5 f ﬁu
Lo by o
KAV A Smu
Y [
- B0GL 669

. : =
S| L B ~
[l Ve — )
Lol Lol Lol |
= = = ()]
(e (e (e Lol
Lt Lt Lt |
N N N (o)
(a- (a- (a- O

odcinek A-B




Pk =

0+328,19

o
o
~
(@)
2
L)
O
~
w)

PP. = 7300

- 6L F 00
-GG gce
65| g 0c7
g [ 185 0c7
0% E G L ey )
109L e ¢/
B
-GG wmo
)
- 09/ 9/l 6L F 000
gy | g~
- 109 LY - _m-
w0 | oo 052~
C 2035 [ _m»ﬂ - om»mx £ —ohml
mmmN N@Nl
- ST T
696 | 00~

. : =
S| Z2| B =
[ O Lol D
. Ve — )
Lol Lol Lol |
= = = (@]
[En) [ [ Lol
Lt Lt Ll |
N N N [an)
(R (R (R O

Pk =

0+3535,35

Skala 1:100/100

PP. = 7300

- 609 |00

- booe

- 09 Foocs

Loy | L
foo [ 68SL 0
oo | T
- I g -1l
609L 0gc/ YA
-0y b

- a9 boeges F oY 000
o L 0B - Si-
O F R oy F -
- 090 L g 009 F o
003t 109 G
- ogel | IR

- 06SL F O0G-

. : =

S| 2| ¥ 5
[ (@) Lol D
. e — ‘)
Lol Lol Lol |
= = = ()]
[ (e (e Lol
Ll Lt LV |
N N N [an]
(a- (a- (a- O

odcinek A-B



odcinek A-B

0+378,51

-5 [ 00 - 6SL [ 00S
- 5L 9S

» 17
ol S | Loy F 6
- B o - 1 % LG e [ SSLE B
L GG/ L 036/ | 99/ F 9! L ey L vﬁﬂ - ¥G¢L i LA
B Ly
ST Gl L I S

[\
- 665, [ OUGL [ §8SL [ 000 ai - UL SYeL | SSL o000

- 185, T 990- %
6/~ ZL r A AR
oy L L9 L ogey L OI- oo | O L o-
213 13 13 A I 213103
S g -l e F o | TS g gt
AR ARE; - 8L /— e |
N@Nl B Nmﬁnx B —mhwl
-89S [ 00 - 0L [ 00
S S| 3| €8| 5| 88 S8 €18 5
> SE|ISIEIG o> SRS Elg
o | w| w| o I & | w | w| =
- =2 =220 &= =22 =2 D
[ml [ [ [ Lol [al (o] (o] [ Lol
o P B g T [ W O [ T A | o oo our| =
[=] ~N ~N ~N (=] ~ © ~N ~N ~N [

Pik




2% 2%

3% 2%

L 96,

- ¥9SL

2%, 8%

8% 2%

0+593,63
PP. = 7300

Skala 1:100/100

Pik

RS ﬁﬁ

; 9GS L e L

- SLGL s OI9SL E

/A e/ i

LGl SYSL 9GS [

- 8GGL

" Gy 9SS F

CUC TR e F

- 89 - 10y -

- /GG T

- 6GCL

- ¥

. ‘ =

slg 8l 4
[ O Lol D
o hv — ‘)
I I R T
= = = (@]
Sl el a8 o
Lt LV Lt —
~N N N [an]
= = = O

0+618,63
PP. = 7300

Skala 1:100/100

Pik

- ogo b
gy Ll
- oo} mm
UG US L g £
TR A e
- o8¢ F & E TR
&e 1
L GBoL oS oereL b o000
Ly L %l
g | [ [ G
N_mmm Y sSL F
g [ 4Y F L
- egos | ogy-

. : =
S| L B ~
(a1 e — ‘)
Lol Lol Lol |
= = = ()]
(e (e (e Lol
Lt Lt LV |
N N N [an]
(a- (a- (a- O

odcinek A-B




Pk =

0+652,80

Skala 1:100/100

PP. = 7300

- 185 00
- Igo 15T
6L/ 28
- bedr T %Hﬂ 6/G E &7
o | 1S 05
-6 L o - 6]
63CL [ 3y i
- Z6GL F SOSLF LS 000
- IS T 900~
VAR AN
L egor | 0% L gy | mmu
" BCL T mm - 98 [ ﬁu
- 9SL F B9SL - Q%N-
- LIS E 00

. : =
S| L= =
[ O Lol D
a. e — )
Lol Lol Lol |
= = = ()]
[En) [ (e Lol
Ll Ll Lt |
N N N (]
(R (R (A O

0+644,10

Pk =

Skala 1:100/100

PP. = 7300

ST (o
, o

Cores LSS L o L
AR AR A
1967 F 4G4 F%¢
&S ” 14
ST
- gL ISSLE SIS E 000
- oo gl
o | 58 _
e ey | FES
T - 00
e | 94 e-
- 69 F GBT-
-9 F 00—

. : =

S| L 2 <
a. Ve — )
Lol Lol Lol |
= = = ()]
[ (e (e Lol
Ll Lt Lt |
N N N (o)
(a- (a- (a- O

odcinek A-B



2%

2%

04+654,10
PP. = 7300

Skala 1:100/100

Pik

odcinek A-B

- 00 -8 00
- OHE ol »
- org 88 B 98| e ee b 0
R AR i 9T ey o
P OrG [ e [ S el b oy - X
v 057 4]
o
I - 196 980
- LGS0 F 920 » » » »
-8 [ oss TS 000 i PTG SYSL | B 000
SRR M - 695L - %0
ﬁ |

oy | LY KT | g/ 06z
o F e o8- R £ &Y - o
K - WO G| e [ g0
| R
79¢-
- 95 |00 - i8S |00

- (@9 [} m m O — 1) =
Sl =2l 2|l o| = Sl oSl Z B s
SIS EIg 8 ~EIS e
W | | w | D ¥ QS M W w | w| 3
Z | =Z | 2| &= - - >
(o] (o] (o] Lol [al [ [ [ Lol
L by A I g A | oy o o =
~N ~N ~N [ [@] ~N ~N ~N [
| x| x| O W > | x| x| O




Pk = 0+671,35

Skalo £100/100 = oz .
T B
PP. = 72000
RZEDNE RO s g a
RZEDNE KONS. = 5 5
REDETEREN | & 3 2 s =3 & &9
ODLEGLOSO =g 5 = 5 Bz o 5B

odcinek A-B




